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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Some vegetarians are not just indifferent to meat; they have a/an —--- toward it.

1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an -——--ee-mev in some people about the benefits of technology.

1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ——--—--m-=- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless

4-  The singer's mellifluous voice kept the audience -——-—-—-- for two hours.

1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday -------eaee-
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be -—-—-—-ne- to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found ---------- , he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8- The old sailor's skin had become wrinkled and -- --- from years of being out in the

sun and the wind.

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the --------- --- of the project before investing
their money in it.
| ) impression 2) visibility 3) feasibility 4) preparation

10-  That is too - ---- an explanation for this strange phenomenon—I am sure there's

something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ==eeemeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeeee
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by

Mozart, verbal relaxation instructions, and (13) ---===--——--, They found a temporary
enhancement of spatial-reasoning, (14) ----=c-meee spatial-reasoning subtasks of the
Stanford-Binet [Q test. Rauscher et al. show that (15) ========—==- the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Before the import of Western ideas of development into the lifeworld of the
inhabitants of Middle Eastern cities and the onset of Westernization. settlements
mostly took the form of traditional communities where dwelling forms were shaped by
indigenous sociocultural and environmental concerns. Structurally, Tehran remained a
traditional city up to the end of the nineteenth century in terms of urban structure and
configuration, although growing changes occurred in the infrastructure, population and
urbanization landscape of the country. While it was only a very small village with
underground houses in the thirteenth century, it underwent reconfiguration in 1553
when the Safavid king Tahmasb built a bazaar, town walls with four gates and a moat.
Later in 1589, Shah Abbas built a Chahar-Bagh (four gardens) and a Chenarestan
(plane grove) in the-northern part of the town and transformed it into a typical Iranian
city. But Tehran had a fairly sparse population up to 1785, when Agha Mohammad
Khan Qajar selected it as the location for the Persian capital. The Qajars tried to follow
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16-

17-

18-

19-

20-

and re-establish the Shi'ite governing system of the Safavids. which had been
weakened during the rule of the Afshars (1726-1747) and Zands (1750-1779). and
legitimate themselves as the faithful Shi'ite dynasty. In this regard, Tehran's cityscape
had to be transformed into an ideal traditional city by means of building places of
religious observance like mosques, as well as the typical traditional urban components
of bazaar, Hammam (public bath). Madrassa (school), and so forth.

What is the main topic of the passage?

1) What Safavid kings did in the mid-sixteenth century

2) The impact of Western ideas on the composition of a city

3) An interesting phenomenon which occurred in the 19th century

4) The traditional structure of a city before a particular time in history

The word "onset" in the passage is closest in meaning to --—------ceeeev .
1) start 2) notion
3) growth 4) result

The author mentions sociocultural and environmental concerns in the passage

1) to define a concept mentioned earlier in the sentence

2) as examples of sources of worry for a particular group of inhabitants

3) as factors which determined the shapes of dwellings in a specific region

4) to explain the role of Westernization in reconfiguring Middle Eastern cities
The passage states that when Tehran was chosen as the capital of the country, —-—=-—em—v,
1) it started to grow rapidly

2) it was not heavily populated

3) the Qajars reconsidered their decisions about urban planning

4) there were not enough mosques or schools to respond to public demands

It is suggested in the passage that the Afshars —--—-—-- —

1) did not hold the other dynasties in respect

2) proved themselves as a faithful shi'ite dynasty

3) did not advocate the governing system of the Safavids

4) placed as much importance on transforming Tehran as Zands

PASSAGE 2:

The Romans and Sasanian kings interacted with each other, exchanged ideas and
images in a competitive and violently hostile atmosphere, even in circumstances where
they substantially adopted and integrated their opponent's cultural material. For this
reason the processes of Roman-Sasanian cross-cultural interaction are best described
as agonistic exchange. The Roman and Sasanian relationship evolved over time,
beginning and persisting in a spirit of outright hostility for seventy decades before
transforming into a more formalized and familiar. though often no less hostile. system
in the late third century. Belligerent at its inception in the third century, Roman-
Sasanian interaction soon developed a more creative and reciprocal quality, with
diplomacy and its artistic and ceremonial expressions often supplementing or
sublimating military action. Once the two cultures became familiar with each other,
Roman-Sasanian relations, be they benign or hostile, became a collaborative, or better,
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22-

24-

25-

conversational process of give and take. consisting of statements and
counterstatements. Like a conversation. the process often could unfold one-sidedly.
with one realm selectively and unevenly producing or consuming cultural material and
polemical statements.

The use of the term "exchange" is not meant to imply that the goods exchanged
were inert substances, valuable or useful. yet ultimately inter-changeable with any
other precious or useful commodity. While this sort of trade took place and was very
important to both empires' economies, it does not fully account for the agency inherent
in the exchanged statements, images, and ideas themselves. At the highest level of
exchange. the cultural material that moved between the courts was itself potently
significant and carried a message that persistently challenged the courts. tempting
them to integrate it or demanding that they defuse and counter it.

What does the passage mainly discuss?

1) How two kings constructed their identities

2) A historical review of Roman-Persian warfare

3) Cross-cultural communication between certain courts

4) Why the Roman Empire adopted the culture of Sasanian Persia

The word "outright" in paragraph 1 is closest in meaning to --------seeeeeee,
1) bitter 2) complete
3) mutual 4) growing

The passage indicates that in the late third century the Romans and Sasanians

1) gained familiarity with each other's cultures

2) no longer appeared to be hostile to each other

3) considered military action as a preferred option

4) produced fewer polemical statements than in the early third century
According to the passage, the goods that moved between the courts
1) were not powerful statements

2) were only precious or useful commodities

3) brought considerable benefits to one of the empires

4) were as important to the economy of one empire as to that of the other

The word "it" in paragraph 2 refers to --—eeeceeaeeeee,

1) level 2) message
3) exchange 4) material
PASSAGE 3:

In Iran, the initial confrontation between premodern Iranian-Islamic society and
European culture resulted in the idea of "Westernization'. At this period. to be modern
implied being Western and behaving like a Westerner, that is the 'adaptation and
application of modern Western civilization to a traditional Persian-Islamic society” ‘to
rebuild Iran in the image of the West’. This tendency was based on the presupposition
that the only valued civilization is Western civilization and the only option is its
immediate imitation.
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Actually. the need to modernize was first recognized by Abbas Mirza (1789-1833).
the crown prince of Fath Ali Shah (1772-1834), who in 1813 and 1825 fought two
campaigns against Russian aggression in the northwest of Iran, both of them ending in
disaster and defeat. He concluded that the only way to win the war against Russia was
to reorganize and re-equip the army based on a new system of education and
administration, which he called the 'Nazm-e Jadid' (New Order).

The leading figures of this period presented different understandings of
development and progress and contributed to introducing social and political changes
in different ways. Fundamental administrative reforms were executed by Mirza Taghi
Khan Farahani (1807-1852), known as Amir Kabir, the chief minister of Nasereddin
Shah, who in 1851 established 'Dar-ol-Fonun', the first polytechnic college in Tehran
which purveyed an alternative body of knowledge from that traditionally taught. It was
designed by Mirza Reza Mohandesbashi. one of a number of students sent to England
by Abbas Mirza to study civil engineering. and was erected using local labour, but
managed by a team of professionals hired from France. Austria and [taly.

The word "its" in paragraph 1 refers to 5
1) option 2) presupposition

3) Western civilization 4) valued civilization
Why did Abbas Mirza introduce the ‘Nazm-e¢ Jadid’?

1) To conduct two campaigns against Russia

2) To avoid further disadvantageous peace treaties

3) To organize the army in a way that would end in victory

4) To accelerate the new construction and development of the country

The word "executed" in paragraph 3 could best be replaced by --—-—-——,
1) performed 2) welcomed
3) encouraged 4) demanded

Which of the following best indicates the function of paragraph 3 in relation to

paragraph 1?

1) It discusses those who contributed to a trend explained in paragraph 1.

2) It explains the underlying principles of a concept introduced in paragraph 1.

3) It describes a presupposition which contrasts with the one discussed in paragraph 1.

4) It makes a list of the figures who opposed the westernization of a society described
in paragraph 1.

There is sufficient information in the passage to answer which of the following

questions?

1) Where was the tendency to westernize reflected?

2) Who built the first polytechnic college in Tehran?

3) What were the characteristics of the Persian-Islamic society?

4) Why were international professionals reluctant to help erect *Dar-ol-Fonun?
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